
Caªki nieoznaczone wybranych funkcji elementarnych

∫
0dx = C

∫
xαdx = xα+1

α+1 + C, α 6= −1∫
1
xdx = ln |x| + C

∫
axdx = ax

ln a + C, a > 0, a 6= 1∫
sinxdx = − cosx + C

∫
cosxdx = sinx + C∫

1
cos2 x

dx = tgx + C
∫

1
sin2 x

dx = −ctgx + C∫
1√
1−x2dx = arcsinx + C

∫ −1√
1−x2dx = arccosx + C∫

1
1+x2

dx = arctgx + C
∫ −1

1+x2
dx = arcctgx + C∫

sinhxdx = coshx + C
∫
coshxdx = sinhx + C∫

1
cosh2x

dx = tghx + C
∫

1
sinh2x

dx = −ctghx + C∫
1√
x2+1

dx = arsinhx + C
∫

1√
x2−1dx = arcoshx + C∫

1
1−x2dx = artghx + C, |x| < 1

∫
1

1−x2dx = arctghx + C, |x| > 1


